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1. The breaks of a truck cause it so slow by applying a retarding force of 4.5 x

103 N to the truck over a distance of 884 m.

a. what is the work done by this force on the truck? &$ifuoe$-
b. ls the work positive or negative? dr/ff q ruir,#
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2. lf electricity costs 14 $ perkilowatt-hour. What does it #Un t
cost per month to leave a 40 watt light bulb on continuously? lt a d
Assume a 30 day month.
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3. Jimmy McFearless is cruising along at25 m/s when he runs out of gas as he approaches the hill

shown in Figure 3. The height of the hill, H, is 20 meters'

Neglecting friction, can he coast up the hill and reach the gas station?

Yes Y No

-

Justify your answer.
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Gas Station

Figure 3
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